
TURBO SET

Compact, powerful, high performing and provides hobbyists with professional welding, particularly su-

itable for hydraulic, air conditioning, and refrigeration work. Product safety is guaranteed by 4 dual-

protection flashback arrestor valves positioned inside the torch body, on the reducer and on the tap. 

Wide range of standard accessories 

ATTENTION TO DETAIL 

Very lightweight kit. Its practical handle and cylinder locking device ensure transportability anywhere. These 

details make it a useful welding kit for refrigerator technicians, goldsmiths and demanding hobbyists. 

EQUIPPED WITH: 

- 1 L 110 bar OXYGEN cylinder

- MAXY GAS cartridge 

- MIGNON oxygen reducer, without pressure gauge, and gas tap, with dual-protection flashback arrestor 

valves 

- 2 m hoses with connections

- Handle with adjusting taps and no-return integrated oxygen and gas valves

- 80 L lance and tip (tip in two components)

- 4-tip single block star 63-100-160-225 L for micro welding 

- Protective goggles 

- Multi-purpose wrench

- Igniter

- Filler metal with de-oxidant

mp

itititititititababababababab

prprprprprprprprprprpr

WiWiWiWiWiWiWiWiWiWiWiWi

ATTE

 lig

ils 

UIPP

11

MAXY

GN

es

m 

nd

- 80 L

CoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCoCompmpmpmp

ititititititititititititititititititititititababababababab

prprprprprpr

WiWiWiWiWiWiWiWiWiWiWi

ATAT

Very

detail

EQUI

- 1 L 

- MAXY

- MIGN

valves

- 2 m 

- Hand

- 80 L

90

3000°C

SPARE PARTS FOR TURBO SET 90

220500201500

CURRENT ACCESSOIRES

GAS CONSUMPTION 

(normal regulation 
and 80 L tip) 

92 g/h

ENDURANCE OF THE O2

CYLINDER  0.30 h

ENDURANCE OF THE MAXY GAS 

CARTRIDGE   3.30 h

CODE Description Connection Weight (kg) No.Pcs.

220500 Pressure reducer mignon O
2
 without gauges M12X1 0.36 1

201500 Gas tap 7/16" 0.12 1

110000 Welding assembly kit complete with pressure reducers M12X1 1.40 1

110005 Welding assembly kit  without pressure reducers - 0.60 1

110600 Lance and tip M10X1 0.07 1

110730.ESP Set of 4 tips 63 - 100 - 160 - 225 L M6X1 0.06 1

B5910003.KIT Spare parts kit 3 oxygen cylinder gaskets - - 1

CODE Description Weight (kg) No.Pcs. Pack.Dim. (cm) Pack.Weight (kg)

115050 TURBO SET 90  M12X1 5.50 2 41 x 25 x 37 11.20

10


